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110.10.29 | C — |PSUlmg/L| mg/L |mg/L | NTU | mg/L {mg/L| mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | pg/L mg/L mg/L mg/L
e e 4 | 12:22~12:26
P | (3R ) 248|81 (332|336 <1.0 | 61 [16.0| 0.15 [0.05| 0.07 | 0.81 | 0.063 | 0.156 | 0.920 | <1.0 | 1.35 |0.00508 | 0.00004 | 0.00069
e b e | 12:06~12:10
HBIRAKE 2 (3R P ) 247|81|33.3|330| <10 | 6.2 140 | 0.15 [0.05| 0.08 | 0.67 | 0.064 | 0.092 | 0.892 | <1.0 | 1.30 |0.00384 |0.00003 | 0.00066
E?E BISRKE 3 12{%{;5:)38 256|81(33.0({138| <10 | 61 | 65 | 0.18 [0.04 | 0.11 | 0.72 | 0.060 | 0.100 | 0.985 | <1.0 | 1.24 |0.00432 |0.00003 | 0.00051
o e s |11:47~11:52
% HiESKE 4 (3R ) 246|81 (332|380 <10 | 6.2 [17.0| 0.14 [0.05| 0.06 | 0.68 | 0.068|0.172|0.879 | <1.0 | 1.29 |0.00374 |0.00003 | 0.00048
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BHE 3 (3R ¥ ) 246|81(30.3|29.3| <10 | 61 [10.0| 0.14 [ 0.05| 0.07 | 0.66 | 0.059 | 0.087 | 0.969 | <1.0 | 2.38 |0.00370|0.00003 | 0.00052
MDL {& - | = —110] 1.0 — | 0.05| 0.01 |0.002| 0.02 | 0.10 | 0.002 | 0.002 [ 0.015| 1.0 | 0.03 |0.00001 | 0.00001 | 0.00001
LB ARAKTRE - ?é55~ — | — | <3.0 |[>5.0| — — — — — - — — — - 0.50 0.01 0.03
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5 (mg/kg) 6.69 7.14 0.111 30
% (mg/kg) <0.100(0.0489) | <0.100(0.0486) | 0.03 10
43(mg/kg) N.D. N.D. 0.08 10
#(mg/kg) 12.7 12.9 1.93 175
47(mg/kg) <6.67(2.424) <6.67(2.450) 2.08 220
4 (mg/kg) 13.0 134 1.12 130
45(mg/kg) <6.67(6.656) 6.78 0.90 1,000
4¢(mg/kg) 37.0 38.4 2.23 1,000
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